Practice questions — Year 4 — Short division

. 945 + 5 (short division)
. 624 + 6 (short division)
. 812 + 4 (short division)
. 738 + 3 (short division)
. 731 + 5 (short division)
. 894 + 7 (short division)

. 562 + 4 (short division)
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. 783 + 6 (short division)
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Practice questions — Year 4 — Short division

. 945 + 5 =189 (short division)
. 624 + 6 =104 (short division)
. 812 + 4 =203 (short division)
738 + 3 = 246 (short division)
. 731 +5 =146 remainder 1 (short division)
. 894 +7 =127 remainder 5 (short division)

. 562 + 4 = 140 remainder 2 (short division)

. 783 + 6 =130 remainder 3 (short division)
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